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He subtracted ten or he added ten; his %190 is a 72190

OVERVIEW

After the mwn stated that if the %W is not aware of the 2"7va ny7 he should
be 070 a fiftieth; the 71wn concludes that (in the abovementioned case) even
if the m%w subtracted ten or added ten, the 7N is still valid. mooIn  first
explains what is meant by 121" n°d, and why indeed it is 72170 NN,

—*pan DYAN NN INPY /NN /N DINY NN DIVIPI YO
>""w9 explained that nm°® means that he separated one from forty (instead
of the average one from fifty) and the word nm® (and similarly 7°017) is
referring to the owner; he diminished the owners produce by ten.”

mooIn offers an alternate explanation of nr°s:
— 908 NNd INPY DIVWYUN THN DINY HNQT NIDIN DIYU99ND UM

And others explain the term nm°® (and 7°017) in the reverse. That nmp
means that he was 2710 one from sixty (instead of a fiftieth) and the word
nmop is referring to the 737290, He gave less 7m0 than the average 2"nwa.

MooIN continues:
— HYOYN DINT NN YIYN 0PN Yan

In any event, it seems that where the m%2 was 2710 -
— *112999 1912991 590 1aN 199 *nYTa NN KD 1Y 9N %3N Hya RON 199N

And even if the owner of the produce came and said to the m5w, ‘I did not
have in mind to give 7m0 in this manner’, nevertheless the 770 s'm5w
is valid.

" Instead of having one measure of 7m0 taken from fifty measures of his produce (enabling them to be
eaten), only forty measures were 171n%; leaving ten measures 720, which still require 721 0. [The 75w may
have taken 7170 from all the produce; however the owner lost ten measures for every forty for which he
was 07N one measure. ]

* According to *"wn it would appear that there is a greater novelty by " no (where the owner is losing
money and nevertheless it is 7m170) than by " 7037 (where the owner is gaining money). It is not usual for
the 712wn to teach a greater novelty before a minor one. This may be the reason the " disagree with "w.

? Instead of being 2N one measure of 77N for fifty measures of produce he was o0 one from sixty. Had
he been o7 a fiftieth the additional ten measures would require additional 7m17n, therefore by being 070 a
sixtieth he excluded ten measures from requiring additional 7217n.

* The mwn states 72170 N0 191 nrvo. We can only know that it was > ni® if the owner comes and says I
did not intend to give this amount for 72170.
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NN asks:
— DN NS 51"\15\’)5 IIIND (%29 97 nprsn xa2) VIRT NOTNI NIV INNT YD

And there is a difficulty! For why is this case different than that which

we learnt; if someone said to his 752 go and be 271 for me -
— 195 HENX 793 130 Hya 1YY AN BN DA 79

And the 75w went and was 27n; if the owner told the mw after he

noticed the type of 72170 he separated, ‘you should go to the better produce’,

and use them for 7m7n. In this case the rule is -
— Emm195 N PN IND ON) 77!)33‘15‘! NN 1D MY INNNI) ON

If indeed there could be found better quality produce, then his 2190 is

valid; however if there is no better quality, then his 7231 is not valid.
— 1295 1NN PN 291 1D2ANR) DY 2N YY NNIYT 1D BNN NY 2PN

And the X713 established this ruling there in a for instance where the

owner designated him as a m%w, and nevertheless it is not a valid 721 n

if we know that the owner disagrees -
— 9D NYINNY NN D YD NHY 195

since he did not expressly state to the 5w that he agrees for the better
quality. Why is it that here, even if the owner disagrees to give one of forty, nevertheless
it is still a valid 717n?!

nv0IN answers:
— NYL 19991 DNNT 91217 W

And one can say; that there by the n19° this is the reason that it is not a valid
N -
— 0291921 NN DYINT ¥75 MM 91927 DTN 22 797 PNV ’a)

Because it is not the custom of people to choose the better quality for

72190, but rather they choose the average quality -
— N9 PYa DINY 19997 DTN 22 NN YT NON YaN

However here (by a fiftieth) where there are many people whose custom
is to give 112° 1Y 719N (a fortieth), therefore the MW -

> The X0~ there is: Y7 X1 7721 127 7110 NN DI 2w W IR aR 191 29 91 1020 7w NG 7Y 7
191 M9 DR 775 1% AR 2"va Xaw "7 101 The X793 there establishes this X092 when mo5w Wwwy.

® The 7m0 was already separated. This phrase of N2> %¥xX 723 can be interpreted in two ways; the owner
was serious, he felt that the 7m0 should have been from a higher quality; or the owner was disturbed
because the 7w gave away his best produce for 72110, His remark was sarcastic, as if saying you could not
find anything better from which to give m7n.

7 Since the owner possessed a better quality of produce we assume that his remark was sincere, and he did
not mind the quality of produce which the m%w separated for f217n; in fact he would even have even agreed
to a better quality.

¥ It is evident, since the owner does not possess a better quality produce that he was merely being sarcastic,
and is not agreeable to the 7m0 which the 5w separated.
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SPNTIRY DAY INYT YENR TINYT NHO PATIN 2975 1Y MY s8N
can say to the owner, ‘this is how I assessed you (as an 772> 7°v) and your
intent (to be 2Mn as a "NI2 or as an 7¥7 V) is nullified to my
understanding of you evaluation’.

SUMMARY

nd (and 7°077) can refer to either the 2"7va (according to *"wA) or to the
7170 (according to the n"). It is the custom by many to be 79> 1°v2 27N, but
it is not the usual custom to be 719> 12 27N.

THINKING IT OVER

1. moon states that 21707 72 M7 M35 K"12 777 PR. How can moon say
that, when the 710 writes'” 7% 291 93, that one must giver the 251 or the
very best for 72 amn?!"!

2. Is there any connection between the beginning of nBoIN (the two
explanations of ™ n"d) and the question of Mdon (why is it a valid 7m0
even if the owner protests)?

? Since he was appointed as a 9w without specific instructions, it is as if the owner agrees to whatever the
oW is 07N,

9 In 20,1 (mP) 12732 the AN writes 22NN T2 72 WM WK DNWRA 1T AN 290 991 X 2bn 9. This is
referring to 7m0 that is given to the 0°375 and the 7710 writes that it should be 251 93; the very best!

""" T heard this question from 7"y PI>M (97wa A7) 17 Jam ' A"707 when I was a student in 9"nn in
Montreal. 7172 1727 Ri7°!
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